Apprendix IV

Item Analysis Matrix for Individual Modernity
(Question no.56)
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Values below 0.128 are not significant at 0.01 level
Values below 0.098 are not significant at 0.05 level

X = Individual modernity.

X3 = Is it true that generally women are inferior to men,
and therefore the women's claim for equality is not
Justifiable ?

1. Yes(0) 2. No(1l) 3.Uncertain(0)
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X2 = Do you believe that a woman should be given complete
freedom in deciding her future ?

1. Yes(1) 2. No(0) 3.Uncertain(0)
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Do you think that mixed marriages are not desirable,
since -both partners are of different cultures ?

1. Yes(0Q) 2. Rol(l)

Do you think that an individual should be completely
free to choose his/her life partner, for it 1is a
personal matter ?

1. Yes(1) 2. No{(0) 3.Uncertain{0)

Do you think the migration of other people to our
country would increase competition, and therefore it
is not desirable 7

1. Yés(O) 2.- RNol(l) 3.Uncertain{(0)

Are you of the view that migration of other people
from outside would bring people of different
culture, and they would become undesirable
neighbours ?

1. Yes{0) 2. No{1) 3.Uncertain(0)

Do ydu think that every one owes a debt to his
native soil, and should not therefore migrate to
other regions ?

T Yes(0) 2. No(1)

Do you belong to any formal organisation ' like;
social club, union, church organisations, political
party or other group ?

1. No(0) 2. Yes (1)

(Please specify the name of the organization you
belong to) .

Which of these opinions do you agree with more ?

1. Some people say that it is necessary for a man,
and his wife to limit the number of children (to
be Dborn) so that, they can take better care of
those they have. (1)

2. Others say that it is wrong for a man, and his
wife to voluntarily limit the number of children
(to be born). (0)
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Scientists in the universities are conducting many
experiments. What do vyou think about these
experiments ? (Tick mark only one)

1. All very good (1)

2. All somewhat good (1)

3. All Somewhat harmful (0)

4. All very harmful (0)

X11= Which of the following is most important for the

X12=

future of this country ? (Tick mark only one)

1. The:hardwork of the people (1)

2. Goodgplanning on the part of the government (1)
3. God'é help (0)

4. 8pecify if none of the above .  {0)

What quality should a man have to hold high office 7
1. Come from high family background (0)

2. Devoted to the o0ld, and time honoured ways (0)

3. Be the most popular among the people (0)

4. Higﬁ education, and special knowledge (1)

5. Please specify if any other (0)



